NMpounie KOMNOHEHTDI
OucTtpnbbiotep DME B Poccn OOO "Cuctema" +7 (495) 199-14-51 www.system.com.ru

© MILACRON

— MCA

MpwKnmbl Ana npecc-Gopmbl

MaTepuan: nerMpoBaHHbIN YyryH

MCA 4-4 --> MCA 6-7 MCA 8-95
gg ) s — SEES T
AR T ~ T B | 3!
‘ / Il Il \ | | oo Il Il | | | | 9(_)
f———— = i o = ;
il
= AR I al o | < e Il | ( ok
| L g o I R ! A=Y
S | LiuS 3
LL ALI = L o
- |
— |
_|B | 22
1B 25
___ S e I
| =1 | W‘ |
o ‘ = L A =
N I f ] ‘ V } N / I
: — J L ,
- L1 - B L1 42
L
p— — - L _
MCA 4-4 HEX M12x80(DIN933) 38 106 72 41
MCA 5-5 HEX M16x100(DIN933) 38 132 86 48
MCA5-7 HEX M16x100(DIN933) 38 178 127 48
MCA 6-5 HEX M16x100(DIN933) 38 132 86 50
MCA 6-7 HEX M16x100(DIN933) 38 178 125 50
MCA 7-7 HEX M20x110(DIN933) 38 178 125 50
MCA 8-95 HEX M24x120(DIN933) 50 241 135 67

162

store.milacron.com

{D CAD reference point






